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Base your answers on what you studied in | ¢Le¥13550L0 -8 Cwys Lo g 9o (-2
Biology: P AGY ) A (e o

1- Choose only one question (A) or (B) @3 () 91 (1) ot 13t | pint = )

and then write its scientific term: sdgde JIA alal) mllaqal! CS)

A) Two pairs of ribs are short and do not | J«s ¥ &,uaat! gslaati (e Olag5 (1)
reach the sternum. ‘paall delae I

B) The state of muscle fiber when its 31355 A Aot 2o AL (o)
premeability to sodium ions of its Slga ¥ Letedalanlas Lanie
membranes increase. paaagall

2- Choose only one question (A) or (B) @3 () 91 (1) 13t A pisel - ¥

then define it. 1 3 3 guaiall Lo ,S3f
A) The cork formation. Oslat (485 (1)
B) Precipitation. e 54 ()
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3- Choose only one question (A) or (B) @3 () ol (1) ot 3l ) Ay i3m0 - ¥
and then mention its site and function. s A2 dd gl g OISt Cas)
A) Estrogen. o g5 ¥ (1)
B) Conjugation tube in Spirogyra. A g s ¥ B 1BV 5LS ()
Site lset Function syt

4- Choose only the right answer of the following: | :ob Les dadd Avouall Ayl W1 i1 - ¢

The hyaluronic enzyme action in ......... | oo & 5052978l @235 Jom
(@) Seminal vesicles. agatiasiagt (1)
@ Fallopian tube. RURIPY T @
@ Two testes. Ot @

(@ Uterus. ot ()

5- Give reason for: b Lt Jle - 0
Thymosin hormone play an importants doe B g3 (puwgesidl (30,0 cuals
role in immune system function. § oo Liad! jLgnt!

wwyjailledg o



6- What would happen when: s e Grdons 13Le - 1
The absence of hydrogen ponds from DNA | g s gycgtida g, 1ol

molecule. sDNA ot
7- Look at the figure below then answer el @d Elalel (G JSG (mayal - ¥
the following: P AGY ) AWM e
1) What does the figure represent? § I JSAT Jias Lo ¥ g
2"%) Write the labels represented by no. (2) | i, teee o cbitat casi -Gt
and (3)? (M5 ()
rd :
3') What is the way that no. (1) takes after o (1) 0B 45k 631 o plat Lo <Lt
release. o s
02
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8- Mention two methods only used in Jond| pked (scialione (mcibiwg HS3 = A
birth control: -Lagie S 393 Lnidrge

9- You have a mRNA carries the following | J—> MRNA ;gja clour-9

sequence: Ry i {F X wird g
/ /-
5....AUG - UAU - GUG-AAU-ACC-UAA...."3

The codons of amino acids were: o ho st Ol ga g Sl cailsy

(IS AW (ol

Methionine Tyrosine | Valine | Asparagine | Threenine | Alanine
AUG UAU GUG AAU ACC GCG
Otgucinn e O ylbea! om0 O=¥

Answer the following: e 0935 S NSl s CnS) Yy

1*Y) Write the anticodons on the tRNA to the
previous sequence.

2"d) Write the sequence of amino acids in a poly-

peptide chain translated from this strand. | ' 22925 Sleslaetl i
.Gl &L’L’U‘

o heca ¥ (oles W aulis IS Lol
S ) deed) daie Al
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10-Choose only one question (A) or (B)
and then define it:

A) Strucural support in plants.
B) Cartilaginous joints.

11- Choose only the right answer of the
following:

Antibodies are knwon as .....

@ Major histocompatibility complex.

@ Immune globulins.
@ Perforin.
@ Detoxifying enzymes.

12-Explain the following:

The second meiosis divison does not
occur during ovum maturation.
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13-What would happen when:

A mixture of DNA from two different DNA (50 g e 551> a2y 22

species of organisms were heated to 100° C | aout olistss s Guatise (e 5t
and then allowed to cool.

PNV PRI |

S3p0d 48,5 @300 00 I

14-Write the scientific term:

ole JIAM alall pellaiael| CST - V £
Cells that carry information which are 1h Lo
collected about microbes and introduce Lone @3 il Sloglactl Jami LIS

them to the specialized immune cells. LSl Lgonant g ySe ety

awsioal de L)
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15-Explain the relation between scrotum
and human male Fertility.

Ol (oS (o A DAl g - \ O
SOl 8D Ay guad g

16- Choose only one question (A) or (B)
and then show the difference between
them:

A) The formation of Gylcosides and
Cephalosporin.

B) The primary and secondary immune
responses.

@3 () 91 (1) 13l t i it - VY
1 Lagicn 2O 4::3“_,,9
NEPCEPIVINES PR PRIEE [PAPES B
O g gt Lo
PV P (- WP BN (- W PSP { P
A g3l due Lt dolaviw ¥y
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17-Explain only by drawing with label the | St ade g daba @u Iy sy - \V

structure of Bacteriophage.

18-Mention the name of gland and
responded organ to the following
hormons:

a) Secretin.
b) Antidiuretic hormone (ADH).

- 292 A8 S )3

uaal g 35 pirall BUAM @l ;S31 - VA
Claga gl (o ST coavinad!
AL
S ¥
ADH 3501 5503 slasti Lot
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19-Choose only one question (A) or (B)
and then write its scientific term:

A) Enzymes that attack specific
nucleotide sequences in the viral
DNA and break the DNA into useless

fragments.

B) The introduction of DNA from one
organism into cells of another.

20-Choose only one question (A) or (B)
and then mention the importance:

A) Ligaments.
B) Motor nerve fiber.

wwyjailledg o
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21-Choose only one question (A) or (B)
and then give reason for:

A) Regeneration in star fish differs from
that in the higher vertebrates.

B) Cross pollination is common in plants.

03 () 91 (1) 1 3uadt im0 - Y
e
Oe sl o B aual Latis -
Shdat| Oolyylaatt 8 sl
SOLAT B lalst | mdlid) arde —w

22- What is meant by the false fruits?.
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23-Choose only the right answer of the Los dakd Amomuall dala ¥l 5is - YV

following: ‘ol
Cells are changed into phagocytes when | uss 31 ..o LMY Sy
needed ......... el e Zeealy
(@) Basophil. assetan (1)
@ Eosinophils. sl @
(©) Neutrophils. antaa ()
@ Monocyte B3l By @

24- Some mutations lead desirable changes |z .35 Of yalal JS Cewd -Y¢
in animals. Explain by an example. -0l plle B Jliey 1D
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25-This sequence illustrates the ey idgn L Al -Yo
arrangement of nitrogenous bases on a | sk 8 A ool Aol gal!

part of DNA strand: :DNA Slas s di (ye
/
3...ATA-GGT-TAC......’5
Answer the following: 1Y e cuai

1°") Write the sequence of nucleotides in JEYCTRU PORTPULL TN EL PO
the transcripted mRNA from this strand of | ., #3eccatt MRNA sg5»
DNA molecule. )

2"Y) What happened if the sequence GGT | alinti ;s 13) dooy Bila Lol
1s changed on mRNA. smRNA « GGT

PP 21 [ NVY

26-Illustrate by drawing only with ALS po dadd mw by pdg - Y
complete labels the structure of human | .La¥ L85 58 cos )5 SGL
vertebra.
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27-Look at the following figure and then sl @3 YU JSEYY (uyat - YV
answer the following questions: (V) Oleddt ad| pudy ol Lo+ 3]
1) What do nos. (1) & (2) refer to? 5(M)s
2n) What does no. (3) refer to and why it | 5(*) e85 43 i i1 La w3
is called by this name? Seu¥ g rou I3Let g

o 8 @) ] )

. t" : o
i ", I A
. g ;- 4 .-__.;' # W
3 i
- § =
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28-Choose only one question (A) or (B)
and then give reason for:

A) The growth of fruits and seeds may
stop the vegetative growth of plant or
its death.

B) Breeding cycles are periodic and
coincide.

29-Choose only the right answer of the
following:

All the following are from natural
barriers which represent the first line of
defense except.........

@) Stomach acidic secretion.

@ Tears and sweat.

@ Interferon and natural killer cells.
@ Mucus and saliva.

@3 (@) 9 (1) 13t s § y5n) - YA
e
LILE pi e Mg slottlgains a3 - |
SLell (g pastl gl Judaai ()
ige Y1 Bl
Olgs 2 goliidl By9s G- o

Les daldd Aovonall Al B 5l - Y4
qar

M adall S lgdl (4o Gl Les JS
....... e Lo Jo¥f glandt das fied

IV PN [P NEPN (P 1Pe-1] @
YD) t}n.ﬁ‘ @
.W‘WW|QM&J|3QU‘9M);B¥I @

olallly dolsualt @
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30-What would happen when: s e Gidomy 13Le - ¥ s

The fixing of the thoracic cage ribs and | paes vt padatipslis ol
preventing their movement? S1gS ym

31-Write the scientific term: 1ole JIA elall mllaqal| CGS) - ¥

Substance are secreted by mast cells and | b3ty aball LIl by ,a5 ssle
white basophils leading to inflammation | cled cows Buelat slagdt aut

of the area of injury. Lo ¥ pis ge Ao ¥
32-What are the expected results of: 1 ole A ylel) ALK Lo - VY

The absence of the midpiece in the Ot (o Aslaw gl Zaladll bl

sperm? s el
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33-Compare between the role of each; the
egg and the nuclei of the embryo sac in

the flower fertilization.

1000 JS 993 (e (yl8 - Y'Y
Adac (B ot | (eI L1939 duacd!
.B}AJ.H‘_,QQLAL?‘

The two nuclei of the embryo sac
(et S G193
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34-Choose only one question (A) or (B) and
then compare between the following:

A) Chemokins & Complements.
B) Antimicrobial chemicals &

Antimicrobial proteins.

@3 (@) 9F (1) o3t ) s § pn) - ¥E
old
Oleatial g GLUS oI -
OLSISY 3aliaelt 2ileasIl slgalt -0
Bala o Ol iy Mg ad Bt
ARG SLSISY

wwyjailledg o




35-Look at the following figure and then 1o Lee | @3 Jalaalt IS (upal - YO

answer the following questions. SUSAT! 128 Aliiay i Lo ¥ i
1) What does this figure represent? OlaB M A s sod La sLsls
2") What do no. (1) and (2) represent? )

S 4y pgdy é;\.“)j.\.” (PR )

rd :
3') What is the role of structure no. (1)? 501) o

2
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36-The embryo in uterus is surrounded PSR I EF UL P FUNTPUIRE 1
by two embryonic membranes. What Log Sled Lo aia¥ (o (g
are the names of them and mention the S Lagie JS Aiad
importance of them.

37-Choose only one question (A) or (B) @3 (@) 91 (1) o3t i st - YV
and then write its scientific term: rde JIu elall allaiael | LIS
A) Individual male formed only from egg | sréle clénsd! (e 0555 5955 -]
directly without fertilization. Agslas | 0ga
B) Mature fruit has only one seed and its | *='92= $sddmdliired -0
pericarp formed of the fuse of ovary | fHh ossiz moladileadia

, iyl s
and ovule integuments. wdsdly pasall Golr
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38-What would happened when s e Gy 13Le - YA
tagpolymerase enzyme exposed to low | x5 31 5o ,ed g & @3 o pas

temperature? Shiniiniae sy
39-Choose only the right answer of the Lo dadd Aovomall dala ¥l s - ¥4
following: N
In life cycle of Plasmodium malaria £32350) % Bl (B S Tl H5lall
Ookinete 1S .............. | Ly Shel!
@ Found in of mosquito’s salivary glands. b gald Bolall 5uill B s @
@ Penetrates into stomach wall and divided L3 5ee iy g Bunel sl 3T @
mitoticallly to give sporozoites. e Bgse
@ Penetrates into stomach wall and divided L3gee mudiy Botaed| jlin & yins @
meioticallly to give to Oocyst. ) S I ¥ ga
@ Divided and produced a huge numbers of — siuel o Slisiaree o pusiv @
Merozoites infected red blood cells. bl ol O, (e ALils
40-What would happen when: sie Crtomy f3le - £+
Treatments of the bacterial transformation | e @ stuwed! Wadatt ssbed! alelas
substance with deoxyribonuclease. iS5 33 (6 LSl J gt
S 9090,

wwyjailledg o



41-Explain : il Lo pud - €
The B-Lymphocytes are considered a Adle AoLd) Gy glaaulll LRI il
highly specific immune cells. s

42-What are the different sources to nourish | Jwas it datinatt jalaetf Lo - £Y
the sperm? AL e (S akall Ol gt Lgie

43-Illustrate by drawing only with complete | Skt 3LS pe dadd mu Il g - £V
labels fertilization process starting with | dsgau e 12d Clas ¥ ddac
the fallen of pollen grain on stigma of the 318301 s e pIE0 A
flower. '
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44-Using the following graph answer the | U 5ot muw b Losisviue - £ ¢
following: 1ol Las i
1*") Conclude the relation between Ca™

L gt (s A3 Ma T i :3'3?
and muscle contraction.

Alaal) (ol g p gt ST
2"9) The highest strength of muscle contraction | Le ,.siataat jslaizys osss Lol
reached ........... milli - second PICY PR L oS

P gued ST (S grlenn
Ca*™ level

S guma

53

9 ol ISI
Ca'* et Muscle strength level

3

|

10 30 50 70 90 110 130 150 170 190
Time in milli-second. A0 L CEgh

>
o=

O®OO
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45-1f you have the following gene Crlas LT oo Gy ELad (IS 13) - €0
sequence on one strand: Al i i Sle AL

’3....,TAC - TCC - TTT - TAC - TCC - ATT...’5

15) Write the nitrogenous base sequence | & aill 4clsall gl w8135
on mRNA transcript from the previous | zswiett MRNA sgja e

strand. Gl | day 5231 (e
2") The number of amino acids that is Al A ¥ (alen ¥ s g <Ll
formed by the translation of mRNA. MRNA ¢ aes 500
3'4) The number of tRNA types that used | ztee o» tRNA 155752 o5 ctas

in the translation of this sequence. s
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